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[rer & queston

el Percentages
15|81 CGorrect response Additional guidance
alala| |m] 7 1 For the first mark, ‘out of 10° repeated
@
i
Condone
1m| s0
b[b|b| |1m| Completes the sentence correctly with two

values that are in the ratio 1 : 20

eg
« Tourof20

= 5 out of 100
0.5 outof 10
10 out of 200
+ 2.5 outof 50

Completes the sentence correctly,in a different
way from one previously credited

1 Follow through
Accept as two values in the same ratio as
their two values for the first mark, provided
their first value < their second value
eg, from their first mark as 1 out of § accept

* 2ourof 10





image8.jpg
Percentages

Completes the sentence correctly with two.
values that are in the ratio 1: 20
«

« loutof20
» 5 out of 100
» 0.5 outof 10
» 10 out of 200
» 2.5 out of 50

Completes the sentence correctly, in a different
‘way from one previously credited

‘Additional guidance

1 For the first mark, ‘out of 10’ epeated
-9
0
Condone

t Follow through
Accept as two values i the same ratio as
their two values for the first mark, provided
their first value < their second value
e, from their first mark as 1 out of § accept
* 2outof 10
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[Tier & Question|
5|

A level results

6300

Shows the digits 63(00)
Shows the value 13680 or 19980
Shows the digits 1368(0) and 1998(0)

Shows a complete correct method with not
more than one compurational error
g
37 19
= 305 54000 - S x 72000

» 37540~ 19720

Additional guidance
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Correct response

2m | Gives all three correct values, ie

or equivalent

or
m | Gives two correct values Follow through
For 1m, allow follow through from an
incorrect value that is correctly divided by 2,

provided ther values are not 10, 5, 2 or
84,42,21
eg, for 1m accept

£98.70 Follow through from part ()
For 2m, allow follow through as 84 + the
sum of their three values from part (a),

Shows the digits 987 provided at least one of their values s not
an integer, and the total is rounded or

or truncated to a whole number of pence

Shows or implies the addition of the three

values corresponding to 10%, 5% and. z%v.

@
" 84442421
= 147 seen
= The sum of their 3 values from part (a) seen
[with or without addition o 84]

Shows or implies a complete correct method
‘with not more than one computational error

eg
. L175x84

175
- e s
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Completes twa rows of the table correctly
Completes one column of the table correctly

‘Completes the table with the two columns
transposed but otherwise correct

‘Completes cither the row for Ravi or the row
for Tina correctly

‘Completes the table using correct percentages
from the bar charts, ic

+ Inaccurate reading of bar charts for Ravi
and Tina
‘Accept values in the following ranges
provided the total for the row is correct
e, accep
CRavi 5=l 1521
Tina  100=4 1004

eg, within a Im response using only

percentages, aceept
“Ravi o 7022 3022

Tma 5022 5022

1 Incorrect wnits inserted
Ignore
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Wine gums (cont)

Correct response
Explains that Tina used the largest sample size

= The more tests you do, the more reliable
the results

‘» Tina asked more people than the others

= 200 is bigger than 100 or SO

‘Additional guidance
 Minimally acceptable explanation

More tests
More people

More wine gums

200 is bigger

She asked 200 and the others asked 100
or S0 [comparison implici]

She asked twice as many people as Sta
fcomparison with Ravi implicie]

+ Iprelevant information or claim

CY
“ 1t was S0/50
« Hers were more evenly split
+ She asked a wider range of people
Ignore if accompanying a correct response

 Incomplete or incorrect explanation
@
+ More
+ She asked 200 people [no comparison]
* Her results are more relable as it was
half and half
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Woodpeckers

Correct raponse Additionsl guidance |

Gives all three correct values in the correct
order, e

 Equivalent ratio
@
1
ol
3
eyt

0: 30
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CD player

Correct response

Additional guidance

Gives all three correct values, ie

8.4

42

2.1 or equivalent

Gives two correct values

! Units given
Ignore.

t Follow through
For 1m, allow follow through from an
incorrect value that i correctly divided by 2,

provided their values are not 10, 5, 2+ or
84,42,21 *
eg, for Im accept

0.84 | (error)

042

021

(error)

£98.70

Shows the digits 987

Shows or implies the addition of the three

values corresponding to 10%, 5% and
5
" 84442421
& 147 seen
& The sum of their 3 values from part (a) seen
[with or without addition to 84]

Shows or implies a complete correct method
‘with not more than one computational error
s

. L175x84

175
DR

Follow through from part (a)
For 2m, allow follow through as 84 + the
sum of their three values from part (a),
provided at least one of their values is not
an integer, and the total is rounded o
truncated to a whole number of pence
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Wine gums
Additional guidance

+ Inaccurate reading of bar charts for Ravi
and Tina
Accept values in the following ranges
provided the total for the row is correct
g, accept
SRavi 351 1521

Tina 10024 1004
eg, within a 1 response using only
percentages, accept
“Ravi o 702 3082

Ta 5022 5042
Completes two rows of the table correctly
+ Incorrect units inserted
or Ignore

Completes one column of the table correctly

‘Completes the table with the two columns
transposed but otherwise corect

‘Completes cither the row for Ravi or the row
for Tina correctly

or

‘Complets the table using correct percentages
from the bar charts,ie
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Wine gums (cont)

Correct response

Additional guidance

Explains that Tina used the largest sample size
5
= The more tests you do, the more reliable
the resuls
 Tina asked more people than the others
= 200 s bigger than 100 or 50

 Minimally acceptable explanation

s
« More tests

More peaple

More wine gums

200 is bigger

She asked 200 and the others asked 100

or 50 [comparison implicit]

« She asked twice as many people as Sita
[comparison with Ravi implicit]

t Irvelevant information or claim
]
* It was 50/50
* Hers were more evenly split
« She asked a wider range of people
Ignore if accompanying a correct response

 Incomplete or incorrect explanation
s
* More
« She asked 200 peaple [no comparison]
* Her results are more reliable as it was
half and half
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Woodpeckers

Correct response

Additional guidance

Gives all three correct values in the correct
order, ie

60 10 30

 Equivalent ratio
L

1

sdig
3

1

0:30
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Error

Correct response

Additional guidance

Gives two correct percentages that sum to 100
e
.39
61
388
612
3883
6117

Gives one corret percentage even if truncated,
ie 38 or better, or 61 or better

Shows or implies a corect methad for both
percentages
e
804206
126 + 206
= Digits 38(...)(or 39) and 61(...

Incorrect use of % sign
Ignore

Values rounded
For 2m, accept percentages correctly rounded
to two or more significant figures, provided
they sum to 100

Note to markers:
Correct percentages are  38.834951456...

61.165048543...
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Percentages

Correct response

Additional guidance

2m

m

Gives all three correct values, ie

40
4
08

Gives any two correct values

 Throughout the question, equivalent
fractions and decimals

t Throughout the question, incorrect use of
percentagesign

t For tm, follow through
Accept follow through as their 1st value + 10
andor their 2nd value + 5
eg, for 1m accept

« 30 (error)
3
06

40
04 (error)
0.08

m

t Follow through as the sum of their three
values from part (a)
Accept provided the sum is less than 80
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Tir & Question

Survey
B
169 Correct response ‘Additional guidance
afa m| 10 x 10%
b|b 2m | Completes the percentage bar chart correctly, | v Unambiguous labelling
e ™

50% labelled No .

40% labelled Don't know FEA

10% labelled Yes, with bars in any order el Kl £ RAE L0 Lkl L

m

eg

0% 20% 40% 60% 80% 100%

Indicates sections corresponding to 50%, 40%
and 10% but fails to label, labels incorrectly or
bars are not continuous
&

s [v]x[z[x[z]x][:]x
0% 40% 60% 0% 100%

Shows or implies the values 50, 40 and 10
e

0% 20% 40% 60% 80% 100%

Indicates a correct bar for either Don't know or
Yes, and labels correctly

0% 20% 40% 60% 80%

100%

t Lines not ruled or accurate
Accept provided the pupil’ intention is clear
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Percentages

Correct response

Additional guidance

or
m

all three correct values, e
40
4
08

Gives any two correct values

 Throughout the question, equivalent
fractions and decimals

Throughout the question, incorrect use of

Accept follow through as their 15t value + 10
andior their 20d value + 5
e, for Im accepe
30 (error)
3

06
v 40
0.4 (error)
0.08

Follow through as the sum of their three
values from part (a)
Accept provided the sum s less than 80
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h Grey and black designs
[18]10] 2 Correct response Additional guidance

i 25  Equivalent fractions or decimals
2| 3:2 * For2m, comct raiogven i heform 1
-
c1s:
c1d
1] v e i .2 b nchoes words, letters | 1 For tm, incorrect use of percentage sign

or symbols
e
= 3grey: 2 black
. g=3:b=2

Shows a correct ratio even if not in it simplest
form, or there is incorrect further working,

)
" 60:40
.64
. 1S

Condone only within the ratio 3: 2,
e for 1m accept 3% : 2%
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Ninths

Correct response
cates L and L ie
1m | Indicates 7t and 735,
v v
tm | Indicates 1%, ic
v

 Equivalent fractions

* Equivalent decimals or percentages
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Marking overlay available

Correct response

Draws the sectors for Evening newspaper and | ¥ Unambiguous abbreviation
No newspaper within the smaller tolerance as Y
shown on the overlay and labels correctly + E for Evening newspaper,
N for No newspaper

Draws the sectors for Evening newspaper and
No newspaper within the larger tolerance as
shown on the overlay and labels correctly

Draws the sectors for Evening newspaper and
No newspaper within the smaller tolerance as
shown on the overlay but fails to label or labels
incorrectly

Shows or implies that 5 people are represented
by 30° or that 1 person is represented by 6°
o
5 people = 30°
® 15045230
. 3604 60=6
* 60,90 seen
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Travelling by car

Additional guidance

EH

2m | 1.8 or equivalent
1m | Shows or implies a correct method
18440442

1 Answer of 2
For 2m, do not accept unless a correct
‘method or a more accurate value is seen

+ For 2m or tm, follow through from part (b)
Accept follow through as 18 + (their (b) + 6)
or as (their (b) + 14) + (their (b) + 6),
rounded or truncated to at least 2 s..

 For m, necessary brackets omitted
8
ERTRT R RS
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Tier & Question

[57]

Time machine

Additional guidance

2m

m

Shows the value 94 or the values 4 and 2

Shows a complete correct method with not more
than one computational error

8
* 100-46-48
= 100~ (46 + 48)

* 10046 = 53 (error)

x For Im, necessary brackets omitted

e
©100-46+48
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Walking to school

Additional guidance

Correct response
m| 20

m| 28

or

m | Gives an answer of 72

@

or

Shows or implis a correct method
e
. 7x4
. 028
* 7outof 25
7

b
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Tir 8 Queston

2m

m

Shows the value 94 or the values 4 and 2

Shows a complete correct method with not more:
than one computational error

]

= 100-46- 48

o 100~ (46 + 48)

o 10046 = 53 (error)
53485

x For m, necessary brackets omitted

@
©100- 46+ 48
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Percentages
Addtionsl guidance
1 Throughout the question, incorrect use of
% sign
.
e

%
Penaize only the frst occurrence.

1 For part b) follow-through
Accept follow-though as their (a) x 3, or as
36+ thei a) provided the result i less than 360
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‘Shows a complete correct method with not more

than one emor

e

+ 2000000038

© 38-100%2x 1000000

* 2 million = 20000000 (error)
20000000 % 0.38 = 7 600000

Recycling
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- UK population
Mark Corroct response. ‘Additional guidance
Im Gives avakue betwoen 1.5and 19 inclusive ' Equivalent fractions or decimals
1 Answer of 2
Accept i no incorrect working shown.

m  Indicates 5%, e
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T & Cumenen

™

2m €525

m Showthedgta 75
or

Shows or implies a complete correct method with ot
more than one computational ertor
i
. 65-65-325
. 08565
o 65+ 315(emon =965,
Answer:55.35
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Tie & hton

57
Mark Correct response

m  Gives a comect explanation

o
* Itmeans a half

o so%e}

* Itsthe same s 05

g, accapt

o Jprice

* Half agree

+ fthers ae 100 pecple then SO want  new
* S0%of 0is10

1 More than one statement given
Accept provided at least one of the statements
s comrect and none are incorrect

x Incorrect or incomplete statement

e
5% means it half of 100
o S0% s half of 100%

* 50% means 50 per cent
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T Quntion

T -
1m  Gives both correct answers,
Chair height: 14 inches Tdt height: 22 inches

Im Indicates Yes and gives a corect explanation
°g
« Throe-quarters s 75% and 80% > 75%
* 80% s § which is greater than ]
* 80% s 5% more than three-quarters

Sitting comfortably
‘Additional guidance

1 Incorrect units inserted.
Ignore

' Minimally acceptable explanation

75
0%

20% don't

80is bigger than 75

5% more/less

Just over three-quarters
{isbigger

X Incomplete or incorrect explanation

g
* Itsays so on the graph
« oo sbout]

. %

e sesseag
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Gives a correct value
LS

< 0zcmporyour
o jomparyenr

1.5 m o equivalent

Shows the digits 156
or

‘Shows the digits 3
o

.03

or

‘Shows a complate correct method with not more:
than one computational error

o
. 12x13
© 12x03+12
©12410,x3,+12
© 10%0f12-012
30% = 0.12 x 3= 0.26 error)
026+12-146

or

‘The only error is to use the height from 1957, ie
‘gives an answer of 1.43m or 143cm

Chinese growth
Additional guidance

X Units changed
o
* 0002 metres.
. 2mm

¥ Units changed
o
o 156em

1 Answer 1.6m
Accept 1.6m provided a cormect method of more
‘accurate value is seen
g, accept
* 13x1250en

Answor = 1.6m
*03x12-0%
04+12=16m
‘g, do ot accept
* D%of12-04
Answer = 1.6m
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[Tier 8 Question

Grid percentages

=
Correct response ‘Additional guidance
m| 60
m| 60 1 Percentage of diagram not shaded given
Provided correct percentage unshaded is
given consistently, ie 40 given for both,
mark s 0, 1
1m | Gives a correct explanation in which both  Minimally acceptable explanation
1 @
L and the link t0 100% are shown or implied " 8 s 10050 11 121
= © 10048

- s fand fof 100is 12

= 1outof 8 is equivalent to 12.5 out of 100
v $x12lz100

. 100482125

s I dand 14820125

* 100 divided by the number of squares
- ge01s

+ The link s to a different percentage
Accept provided the relevant fraction is
shown or implied
eg, accept

* 2 squares is 25%, 1 square is half of
that
* 4 squares is 50%, 50+ 4

X Incomplete explanation
ty
* 8 squares is 100%
* 1 square out of § shaded

.12k
123%

* Incorrect order of division

- 1
s+100=121

1m| Indicates a total of three squares on the

diagram
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Gives a correct explanation in which both
3 and the lnk to 100% are shown or implicd

o 1es Land Jof 100is 123

» 1 0ut of 8 is equivalent to 12.5 out of 100
sxnloim

® 1004+ 8=125

o fesgand 14820125

Grid percentages

‘Additional guidance

! Percentage of diagram not shaded given
Provided correct percentage unshaded is
given consistently, ic 40 given for both,
mark as 0, 1

/ Minimally acceptable explanation
" 8 squares is 100 s0 1 i:ll%

*100+8
100 divided by the number of squares

0125

+ The link is to a different percentage
Accept provided the relevant fraction is
shown or implied
e, accept

* 2 squares is 25%, 1 square is half of
that

* 4 squares is S0%, 50 + 4

 Incomplete explanation

squares is 100%
* 1 square out of § shaded

e 12i%=

X Incorrect order of division

e 51
“se100-12)

1m | Indicates a total of three squares on the
diagram
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Correct response.

Gives three correct integer values that sum to
1620, e
s30 |

535 [ s34
1085 | or [ 1086 | or [ 1050
) 0 0

Gives a value for sandhoppers that i cither
between 534 and 535 inclusive or is 540,
or a value for beetles that s cither

between 1085 and 1086 inclusive or is 1080

Gives all three correct integer values but in the
‘wrong order

Gives three correct integer values, ie

Gives any two correct integer values

Gives all three correct integer values but in the
‘wrong order

Gives two correct values not rounded to the
nearest integer, with the third cither correct but
not rounded to the nearest integer, or such that
the total is 15, ie

7 For 2m, entry for fis lef blank

 For 2m, proportion taken as § and 3

t Correct values are truncated o 1dp
For 1m, accept provided all three correct
values are truncated, or two correct values
are truncated and the total i 15, ie

s ] (2] (o] ] |[5] [=] [=] =]
755 Jor| 795 o 51 Jo[ 735 | | [73 Jor 73 Jou] 32 o 75 |
s (o] o] ] [ o] =] 2]
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Beaches (cont)

Correct response.

Additional guidance

altogether on the cleaned beach, and also
refers to at least one of the following aspects:

The presence or increase of flies
The smaller proportion of sandhoppers or
beetles

‘The increase in the number of species

Auracts some flies, but fewer animals

over

“There are much less of them, and they're
not all sandhoppers and bectles

There aren't as many animals, and a smaller
percentage of them are sandhoppers

“The numbers have gone down, but there are
always more bectles than anything else
Without cleaning you get more animals but
fewer types of animals

! Follow through from parts (a) and (b)
Do nor accept if their incorrect values lead to,
different conclusions about the changes.
However condone use of their incorrect
values within an otherwise correct statement

X Values stated without interpretation
o«

* There were 1620 animals on the
uncleaned beach and 15 on the cleaned,
with 33% sandhoppers on the uncleaned
and 13% on the cleaned

X No reference to the change in the total
number of animals
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Holiday

[22]15]9 ]2 Correct response Additional guidance
ala| [2m| £ 55675 t Value rounded
Accept 557 or 560
For 2m, do not accept 556 unless a correct
method or 2 more accurate value is seen
m | Shows or implies a complete correct method,

even if there are rounding errors
e

47 usoc
. %3275
. 32754100x 17
556
10% = 327.5(0)
5% = 163.75
1%= 3275
327.5(0) + 163.75 + 2 x 32.75
. 1%=3275,

33 (premature rounding) x 17 = 561

Shows the digits 55675

Shows or implies a complete correct method
8 dem
21842

= Shows the digits 75(
.7

x 100

Gives a value between 7 and 8 inclusive

t Value rounded
For 2m, do not accept 7 or 8 unless a correct
method or a more accurate value is seen
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Holiday
Additional guidance

+ Value rounded

Accept 57 or 560

For 2m, do not accept 556 unless a correct
‘method or a more accurate value s seen

Shows or implies 2 complete correct method,
even if there are rounding errors
= i
. 28

3275+ 100 x 17

556

10% = 327.5(0)

5% = 16375

1%= 3275

327.5(0) + 16375 + 2 x 3275

1% 23275,

33 (premature rounding) x 17 = 561

Shows the digits 55675

t Value rounded
For 2m, do not accept 7 or § unless a correct
method or a more accurate value is seen

Shows or imphies a complete correct method
LTI
Tiver
‘» Shows the digits 75(...)

B

or





